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CDS Exam(I):2016

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : B-ABPA-P-JRW Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

1.

10.

. You have to enter your Roll Number on the Test Booklet in

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number

and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

the Box provided alongside. DO NOT write anything else on
the Test Booklet.

. This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and

English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.

. All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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1. If the roots of the equation
x2 +mx+m=0 are in the ratio p:q,
then

\/E P \/L JE
qa Yp VI
is equal to
(@ 0 (b) 1
(c) 2 (d 3
2.1

f
V3x2%2-7x-30 - V2x2—7x—5=x—5

has o and B as its roots, then the value

of of is
(@) -15 (b) -5
(c) O (d) 5

3. f 2+9-m and 2+ 2 -1 then what
® Y x y

e equal to?
y

np + np +

) ETHA 1) R L
mp + nq mp - nq
np - np -

(c) L L (d) np—ig
mp —ngq mp +nq

4. If a’?-by-cz=0, ax-b%+cz=0 and
a.x+by—c2 = 0, then the value of
x y z

+ +
at+tx b+y c+z

will be
(@) a+b+c (b) 3
(c) 1 (d O

5. If the equations x2- px+q=0 and
x%+ gx-p=0 have a common root,

then which one of the following is
correct?

(@ p-qg=0 (b) p+q-2=0
(¢ p+q-1=0 (d p-q-1=0

B-ABPA-P-JRW/54A

10.

_1
If x=2é+2 3, then the value of

2x3-6x-5 is equal to

(@) O (b) 1
(c) 2 (@ 3
The sum and difference of two

5x2-x-4 and
x%+9x-10 respectively. The HCF of
the two expressions will be

(@ (x+1) (b) (x-1)

(c) (3x+7) (d) (2x-3)

If (s—a)+(s-b)+(s-c)=s, then the
value of

expressions  are

(s—a)2+(s—b)2+(s—c)2+s2
a?+b?+c?
will be
(@) 3 (b) 1
{c) O (@ -1

If the polynomial
x6+px5+qx4—x2 ~330=3
is divisible by (x* - 1), then the value of

p2+q2 is
(@) 1 (b) 9
(c) 10 (d 13

Let p and g be non-zero integers.
Consider the polynomial

A(x)= x2+px+q
It is given that (x —m) and (x — km) are
simple factors of A(x), where m is a
non-zero integer and k is a positive
integer, k > 2. Which one of the following
is correct?

(@) (k+1)*p? =kq
(b) (k+1)*q=kp?
(c) k?q=(k+1)p?
(d) k?p?=(k+1)%q
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e T x2 +mx+m=0 % Hd p:q

p q m
ﬁaagqmﬁ%,ﬁl\/g+\/g+\/;m

R 87
(@) O (b) 1
) 2 (d 3

. Il

\/3x2—7x~30 —\/2x2—7x—5=x—5

% e o 3R B, N of F AW 187
(@ -15 (b) -5
(¢ O (d 5

SV S SO B S S

X Yy X Yy Yy
Torereh TeR 27

np + np +
(@) Rp g (b) nprmg

mp + nq mp - nq

np - np -
(c) np=mg (d) np—mg

mp — ng mp + ng

. 9% a?-by-cz=0, ax-b%+cz=0 3

ax + by - c? =0%, @

X y z
+ +
a+x b+y c+z

1 A HTEM?
(a) a+b+c (b) 3
¢ 1 (d) 0
5. 3fe Beicaul x2—px+q=0 3R
x2+gx—-p=0 H TH JFWEE 7@ g, @
 frafafea & @ #F-a1 o @@ R0
(@ p-q=0 (b) p+q-2=0

(c) p+q-1=0 (d p-q-1=0
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[

9.

10.

IR x=25+2"3 &, A 2x3-6x-5 F TH

Torges e 87
(@) O (b) 1
(c) 2 (d 3

amﬁﬁlﬁﬁ@ 3R IR HHM: 5x2— x -4
AR x2+9x-10 Bl A A e H
Ho Ho (HCF) 1 &rm?

(@) (x+1) (b) (x-1)

(c) (3x+7) (d) (2x-3)

e (s—a)+(s—-b)+(s—c)=s &, A

(s—a)?2 +(s-b)2 +(s-¢)? +s?

a?+b?+c?
I A 1 B ?
(@ 3 (b) 1
(c) O (d -1
afe agT

x6+px5+qx4—x2—x—3
(x*-1) ¥ forsw ®, @ p2+q? & WA
ERI

(@ 1
(c) 10

(b) 9
(d) 13

TH it p iR ¢ YVPW TiE T
TGIE A(x) = x2+ px + g R f=w ) T=
e R 6 (x - m) 3R (x —km), A(x)F

W PHEE &, & m T AR O0F 8, k
T AT IR 3R k> 2 ®1 FrfaRad |
¥ HH-91 TF Hel 27

(@ (k+1)?p?=kgq
(b) (k+1)%g=kp?
(c) k2g=(k+1)p?
(d) k?p?=(k+1)%q

[P.T.O.
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11. Let m be a non-zero integer and n be a
positive integer. Let R be the remainder

obtained on dividing the polynomial

x™ +m™ by (x-m). Then

(a) R is a non-zero even integer
(b) R is odd, if m is odd

(c) R=s? for some integer s, if n is
even

(d) R=t3 for some integer t, if 3
divides n

12. If 4*2Y =128 and 3%*¥32Y- 9% = 0, then
the value of x + y can be equal to
(@) 7 (b) 5
() 3 (d) 1
13. If the linear factors of ax? — (oz2 +1l)x+a
are p and g, then p+q is equal to
(@) (x-1)(a+1)
(b) (x+1)(a+1)
(¢ (x-1)(a-1)
(d (x+1)(a-1)

14. If

- Ya+2b+Ja-2b
Ja+2b-+a-2b

then bx%-ax +b is equal to (given that

b=#0)
(@ O (b) 1
(c) ab (d) 2ab

15. If a® =117+ b> and a=3+b, then the
value of a+b is (given that a> 0 and

b>0)
(@ 7 (b) 9
(c) 11 (@ 13

B-ABPA-P-JRW/54A

16. If the sum of the roots of ax?+ bx +c= 0
is equal to the sum of the squares of
their reciprocals, then which one of the
following relations is correct?

(@) ab?+bc?=2a%c
(b) ac®+ be? = 2b2%q
(c) ab?+bc? = a?c

(d) a?+b%+c%=1

17. Consider the following statements in
respect of the expression

5, - nn+l)

where n is an integer :

1. There are exactly two values of
n for which S, = 861.

2. S,=S (1) and hence for any
integer m, we have two values of
n for which S, =m.

Which of the above statements is/are
correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
18. Consider the following statements in

respect of two different non-zero
integers p and q :

1. For (p+q) to be less than (p-q),
g must be negative.

2. For(p +q)to be greater than (p - q),
both p and g must be positive.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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11. AH <iT m T YAR NiE AR n &
YAHE U Bl WM WG R, WE9R

x™ +m" & (x-m) ¥ fawfia FA waw

ITRA T | T

(@) R T AR H I @

(b) RTawm g, aft m fowm @

(c) mTﬁiﬁ s & fog R=s2 %, 3R
ngq 2

(d) Toeh quiss ¢ & fog R=1¢3 %, 9R 3,
n & fasfoa o 2

12. gfk 4%2¥ =128 3R 33%32Y_0W =0 %, W
x+y'mmﬁmﬁam€lw%?
(@ 7 (b) 5
€ 3 @ 1

13. 3fe ax2—(a2+1)x+a & Waw QUFT@E
p 3 q &, @ p+ q Fores TR 77
(@ (x-1)(a+1)
(b) (x+1)(a+1)
(c) (x-1)(a-1)
(d (x+1)(a-1)

14. 3fg

_ Ja+2b ++Ja-2b
Ja+2b -+Ja-2b

2, @ bx2-ax + b Trgs SR 87 (R mn

efFb=0.)
(@ O (b) 1
(c) ab (d) 2ab

15. IR a3 =117+b 3 a=3+b %, @
a+bF AR 2? (I TR % a> 03

b>0.)
(@ 7 (b) 9
© 11 @ 13
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16. AR ax?+bx+c=0 & Tﬁﬁ Ll Trﬁg,, IH

HAT % T o SIS o SR @, a1 Fferfad
T4l § ¥ -1 TF w6l 87

(a) ab?+bc?=2a’c
(b) ac?+bc?=2b%a
(c) ab? + be? = a’c

(d) a?+b%+c*=1

17. wivw s, = D) S oo o R, B

2

o) # FrfeRad e w fomm fifs -

1. n % 34 @ A9 3, s fou
S, =861%|

2. S5,=5_(p,1) & ¥R 36 wRR R quiln
m%%ﬁ%ﬂﬁﬂn%am%,m
%TQS,I:m%I

S0 w1 H A HH-91/F wE 2/80

(@) Fad 1

(b) HIA 2

(c) 13 23F

(@ @ 1MMAA 2

18. A fafm yRE@ qidt p 3 g & aR #

Frefefaa wor ® fem fifve -

1. (p+q) % (p-q) ¥ #9 8 & fau
q FTH 1 & =118

2. (p+q) ¥ (p-q) & 3 W F fory
p 3R g A TR BN A =)

I YA § A FH-91/8 w9 /2T

(@ Fad 1

(b) Fad 2

(c) 1 3R 2<H

(@ @M 1MMAE 2

[P G
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s SIS E = E, then which of the following
b ¢ d
is/are correct?
] b3+c3+4dd . d
" a3+b3+c3  a
a?+b%24¢® g
B S
b*+c*+d* d

Select the correct answer using the code
given below.

(a) 1 only

~ (b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

20. 710_510 g divisible by

(@ 5
(b) 7
€ 10
(d 11

21. Let a two-digit number be k times the

sum of its digits. If the number formed
by interchanging the digits is m times
the sum of the digits, then the value of
m is

(@) 9-k

(b) 10-k

(c) 11-k

(d k-1

22. A man walking at 5 km/hour noticed

that a 225 m long train coming in
the opposite direction crossed him in
9 seconds. The speed of the train is

(@) 75 km/hour
(b) 80 km/hour
(c) 85 km/hour
(d) 90 km/hour

B-ABPA-P-JRW/54A

23. (

. 52 0\ 2

sin 35 ) " (C?SSS ) +2sin30° is equal
cos 55° sin 35°

to

(@) -1

(b) O

(c) 1

(@ 2

24. A cyclist moves non-stop from A to B, a

distance of 14 km, at a certain average
speed. If his average speed reduces by
1 km per hour, he takes 20 minutes
more to cover the same distance. The
original average speed of the cyclist is

(@) S km/hour
(b) 6 km/hour
() 7 km/hour

(d) None of the above

25. If a sum of money at a certain rate of

simple interest per year doubles in
S years and at a different rate of simple
interest per year becomes three times in
12 years, then the difference in the two
rates of simple interest per year is

(@) 2%
(b) 3%

(c) 3%%

(d) 41%

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

19. 3 2 ~b_ 3 @ frafafea 3§ ¥ BR-w/d 2. (sinsso)z_(cossso

2
& )+Zsin30° ETE]

: cos55° sin 35°
L R 87
1 b3+c3+d3_d
' a3+b3+03—; (@ -1
5 a2+b2+c2_a (b) O
2. 2, 12 d
b“+c“+d d i
= T T e T W FE@ IW AT @ 2
(@) Faa 1
(b) HIA 2
(c) 1 3R 23H 24. UF HiEfRA 9es A § B dh 14 Fho o i
@ T fomn &% w fifdm ofwd =@ @ @@ =
TR ERT R 2| At Igh fEd w1 1 Fro e wfa wer
20. 710- 510 frgd fawrsa 27 %4 gl ®, A 9% W gl B W FA F fag
20 fime 1fts &1 B 39 AERRA e
?;j i yrfirer 3iea =Ta = 27
g} 1D (@) 5 Tho o /ua
(@ 11

(b) 6 o o /ua
21. M AT 3 Fhi H TH G AW AH H

INThel < k TAT B | At EE@ % 3T A (c) 7 fo o [ea

H wee ¥ o & R 37kl % ARSI .

m AT R, @ m T HE R 27 (d) 3T A QS

(@ 9-k

() 10-k 25. gfe ®§ Ul wure =W f fHR FiEa

() 11-k affs w @ 5 af # A Th A w2 ek

(d k-1 RO <41 h e o anfies X & 12 99

i F fF T A SR R, @ wERe =S A

22. T AN 7 5 o Mo /He1 il A1 ¥ FeAd T ETME e w—. ey

@ & fauda fem & et g8 225 Ho =l

T el 38 9 ks H UR HA 7| WS (@) 2%

) = T 87

(@ 75 FFo o/ (b} s

(b) 80 Teho Hio /eeT () 31%

(c) 85 o Hio/Har

(d) 90 fho o /5 (d) 4%1%
B-ABPA-P-JRW/54A 7 [P.T.O.
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26. Let ABC and A’B'C’ be two triangles

in which AB> A’B’, BC> B’C’ and
CA>C’A’. Let D, E and F be the mid-
points of the sides BC, CA and AB
respectively. Let D’, E’ and F’ be the
midpoints of the sides B’C’, C’A’ and
A’B’ respectively. Consider the following
statements :

Statement I :
AD> A’'D’, BE> B'E’ and CF > C'F’
are always true.
Statement II :
AB?+ BC?+ CA2
AD?+ BE2+ CF?
A'B2+B'C’2+C’A’?
A’'D’2+ B'E’2+ C'F’?

Which one of the following is correct in
respect of the above statements?

(@) Both Statement I and Statement II
are true and Statement II is the
correct explanation of Statement I

(b) Both Statement I and Statement II
are true but Statement II is not the
correct explanation of Statement I

(c) Statement Iis true but Statement II
is false

(d) Statement is false but Statement II
is true

27. The annual incomes of two persons are

in the ratio 9 : 7 and their expenses are
in the ratio 4 : 3. If each of them saves
¥ 2,000 per year, what is the difference
in their annual incomes?

(@ € 4,000
(b) € 4,500
() € 5,000
(d) € 5,500

B-ABPA-P-JRW/54A

28. Let S be a set of first fourteen natural

numbers. The possible number of pairs
(a, b), where a, be S and a#b such
that ab leaves remainder 1 when
divided by 15, is

(@) 3
(b) 5
(c) 6

(d) None of the above

29. A clock strikes once at 1 o’clock, twice at

2 o’clock and thrice at 3 o’clock, and
so on. If it takes 8 seconds to strike at
S o’clock, the time taken by it to strike
at 10 o’clock is

(a) 14 seconds
(b) 16 seconds
(c) 18 seconds

(d) None of the above

30. In a circle of radius 2 units, a diameter

AB intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
AP is equal to

(@) (2++/5) units
(b) (2++/3) units
(c) (2++/2) units

(d) 3 units
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26. WM it ABC 3R A'B'C’ @ fayst €, e

AB> A’B’, BC> B'C’ 3R CA>CA’ %I
M T D, E 3R F s Sl BC, CA
3R AB % wen-fag 1 oW <fifsg D7, B’ @R
F’ %9 Sl B'C, C'A’ 3R A'B’ %
7e-fog 8| Frafafad weml w fomm Fifg
YA 1 :

AD> A’'D’, BE>B'E’ ¥R CF>CF’
T HA 2

YA I ¢
AB?+ BC? + CA2
AD?+ BE? + CF?

AR poiica?
AIDI2+B/EI2+CIFI2

Swi ol ¥ Ry frefafad § ¥ B0
w27

(@ F9 1 3R HeA I I ¥ ¢ =
oM 11, oA 1 6 T8 =are B

(b) H 1 3R FeM I I HA T AR
FA 11, o 1 hl 98 = TE @

(c) HUH 1 G B AR HH 11 38 B

(d) o 1 A R Al F 11 A 8

27. < =Afwal h offd ™ 9 : 7 h MA@ A T

3R % T 4 : 3 % U A B IR I A
Y% ARk € 2,000 Ufd a9 s=Tar ®, @ S6h!
qiftfer 3T # F1 TR 7

(@) ¥ 4,000
(b) ¥ 4,500
(c) € 5,000
(d € 5,500

B-ABPA-P-JRW/54A

28. mr«ﬁﬁq S Tgt <Gg U4 qUIich| 1 T A=A

R gl (a, b) H wwifad G@n N R, &
a, bES@Ra;&bWW% ab® 15 ¥
faTfor o W A9FS 1 T@al 87

(@ 3
) 5
© 6

(d) IR A 9§ IS T

29. TF Ul 1 S5 T Th o1 S 8, 2 9 WA

IR T B, 3 o9 W I 91 sor § 3R 3
%A T odl Wl ¥ IR 5 99 ¥ a9H |
8 Uhe odl 8, @ 10 &9 38 &9 T Tora
g A 7
(@) 14 4%s
(b) 16 WHe
(c) 18 ¥Hg

(d) 3T | g AL

30. 2 31 Prewn At T 99 § AW AB, 2 R

el Sfia B P W Ee Ufoesfed war 2l
Ife AP > BP, A1 AP foreeh SRR 87

(@) (2+~/5) T
(b) (2+3) K
(c) (2+2)F
(d) 37

[P.T.O.
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31. Under what condition on p and g, one of

the roots of the equation x2+ px+q=0
is the square of the other?

(@ 1+g+q® =3pq
(b) 1+p+p? =3pq
() p3+q+q® =3pq

(d) q*+p+p?=3pg

32. What is the maximum value of m, if

the number N =90x42x324x55 is
divisible by 3™?

(@ 8
(b) 7
(c) 6

d 5

33. A bike consumes 20 mL of petrol per

kilometre, if it is driven at a speed in the
range of 25-50 km/hour and consumes
40 mL of petrol per kilometre at any
other speed. How much petrol is
consumed by the bike in travelling a
distance of 50 km, if the bike is driven
at a speed of 40 km/hour for the
first 10 km, at a speed of 60 km/hour
for the next 30 km and at a speed of
30 km/hour for the last 10 km?

@ 1L
() 12 L
€ 14L
(d 16 L

B-ABPA-P-JRW/54A

34. Consider the following statements :

1. Every natural number is a real
number.

2. Every real number is a rational
number.

Every integer is a real number.

Every rational number is a real
number.

Which of the above statements are
correct?

(@ 1,2 and 3
(b) 1, 3 and 4
(c) 2 and 3 only
(d) 3 and 4 only

35. For what value of k is (x + 1) a factor of
x3+kx?-x+2?

(@ 4
(b) 3
(c) 1

d -2

36. Consider the following statements :

1. There exists a positive real number
m such that cosx =2Mm+1,

2. mn2=2m+n for all m, n belonging to
set of natural numbers.

Which of the above statements is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

10
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31. iR x2+ px +q=0% TH T H TR I 34. el HoEl W famr Hifg :

% 1 BN % AT p 3R g Tra wftey & | 1. Y% o9 qUTish Toh IRfas 9@ gl g
Gl 2. Y% (e GEAl UF UfHg g gl
@ 1+q+q*=3pg &

3. UCd% QUTieh U adfeeh €@ el 8|
4. Y% TG &I U arEdias §E& Bl

(b)) 1+p+p?=3pg

(c) p*+q+q*=3pq 2
(a q®+p+p?=3pq | maﬁﬂ:ﬁﬁ@ﬁq-ﬂﬁ§?
(@ 1,23R3
32. AR @ N=90x42x324x55 3™ ¥ (b) 1, 334
fasrsg &, @ m 1 Aferkan AE w0 27 N i
(@) 8 (d) Faa 3 ¥R 4
(b) 7
© 6 35. k% foF@ A % AT (x+ 1), x3+kx? - x+2
@ s 1 Th PGS 87
(@) 4
33. TF HRXEERRA w1 25-50 fRo Ho/Ha F (b) 3
e § fore =1t & =g ST | 20 Ho oo © 1
et wfe fereidier A @a Bt @ 3R fomed @ -2

F T A T S W 40 fo o U
fq foheiiieR & @oa Bt B | AR HewEihd

753 10 FRo o § 40 ko o /der FI = 36. frefofaa Huri w faam Hifs

3, S 30 fo o F 60 fo o /der # 1. @Wwﬁmm?maﬁa

e A 39 3ifm 10 o o & 30 fho Mo/ T THR & 3 cosx =271 7

H21 e A Al ST @, @ s 2. mn>m+n, 5@ G m, n ¥ IR H

WSOﬁotﬁOﬁ@HﬁWﬁﬁﬁe{ﬁaﬁ gga’q%qaz:q%]

?

I e E TRy

fa) 110 (@) a1

(b) 1270 (b) ¥ 2

(c) 14 fde (c) 1323

(d 16T (@ F@1INAH 2
B-ABPA-P-JRW/54A 1 [P.T.O.
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37. The solution of the inequation 41. Consider the following in respect of
1 1 natural numbers a, b and ¢ :
1+——-—2>0
x x2 1. LCM(ab, ac)=a LCM (b, c)
is (given that x # 0) 2. HCF(ab, ac)=a HCF (b, c)
(@ x>0 3. HCF(aq b)<LCM(a, b)
(b) x<0 4. HCF(aq, b) divides LCM (a, b).
~1-45 ~1+435 Which of the above are correct?
(c) <x<
2 2
(@) 1 and 2 only
-1-45 -1+5
(d xs—F—orxz— (b) 3 and 4 only

) . (c) 1, 2 and 4 only
38. Which of the points P(5, - 1), Q(3, —-2)

and R(1, 1) lie in the solution of the (d 1,2, 3 and 4

system of inequations x+y<4 and

x-yz2? 42. There are three brothers. The sums of
(@ Q and R only ages of two of them at a time are

4 years, 6 years and 8 years. The age

(b) P and R only difference between the eldest and the

(¢) P and Q only youngest is
(d) P, Qand R (a) 3 years
39. A passenger train takes 1 hour less for (b) 4 years

a journey of 120 km, if its speed is

increased by 10 km/hour from its usual (c) S years

speed. What is its usual speed? (d) 6 years

(@) SO km/hour

(b) 40 km/hour 43. A person goes to a market between
4 p.m. and S p.m. When he comes back,

(c) 35 km/hour he finds that the hour hand and

(d) 30 km/hour the minute hand of the clock have
interchanged their positions. For how

40. The value of k, for which the system much time (approximately) was he out

of equations 3x-ky-20=0 and of his house?

6x -10y+40 = 0 has no solution, is
(a) 55-38 minutes

(@) 10

b) 6 (b) 55'48 minutes

) 5 (c) 55:57 minutes

(a 3 (d) 5567 minutes

B-ABPA-P-JRW/54A 12
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87. Sl 1+—-—>0 F @ # ¥ (R

X x
W%ﬁx;ﬁ-o.)
(@ x>0
() x<O
~-1-+5 -1+4/5

2

<x<

(c)

a

Aol i Sy R I

(d x< 7 2

38. fagadt P(5, -1), O(3, -2) 3R R(1, 1) #

A #-7 fog smfem fvm x+y<4 R
x-y>2%TaH ANE 8f

(@) Fad Q 3R R
(b) FaA P IR R
(c) Fad P3N Q
(d P, Q3R R

39. T I Wl 120 fho o amn % fog 1 5

FH g oA ?, AR A 91 g e o
10 Fro o /5 @i Wl B THRl WHA
=Tl 1 27

(@) 50 fFo o /Har
(b) 40 Tro Hio /ea
(c) 35 o o /uar
(d) 30 ko Hio /e

40. k % 498 #H, e fr e e

3x—ky-20=0 3R 6x-10y+40=0
IS T el 8, H 87

(@ 10

(b) 6

(c) 5

(d) 3

B-ABPA-P-JRW/54A
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41. g4

a, b 3R ¢ % fou Frfafga « fa=m
Hifr

1. LCM(ab, ac)=aLCM(b, c)
2. HCF(ab, ac) =aHCF|(b, c)
3. HCF(aq, b)<LCM(a, b)
4

HCF(q b), LCM(a, b) & famfem
ez

I A | HH-H FE 87
(a) Had 1 3R 2

(b) Had 3 R 4

(c) FFa 1, 2 3N 4
@ 1,2, 33M4

42. I g ¥ R v W o A @ A oy A

ATEA 4 99, 6 94 3K 8 99 | HEW §3 AN
T DI Y 1Y T IR 1 27

(@ 3ad
(b) 4ad
(¢ 5o
(d) 6ad

43. TF Ak 9@ 4 99 ¥ G 5 99 % g GNIR

STl B S| 98 9199 A1 §, 79 98 g @ FR
g8 H U2 A g3 o e 6t g A Fufmi
9 # gt M8 ¥ 98 fRad T (sme) %
e == | =T en?

(@) 5538 fiFe
(b) 5548 fire
(c) 5557 fiFe
(d) 5567 e

[P.T.O.
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44. In a gathering of 100 people, 70 of them

can speak Hindi, 60 can speak English
and 30 can speak French. Further, 30
of them can speak both Hindi and
English, 20 can speak both Hindi and
French. If x is the number of people
who can speak both English and

46. Two pipes A and B can fill a tank

in 60 minutes and 75 minutes
respectively. There is also an outlet C.
If A, B and C are opened together, the
tank is full in 50 minutes. How much
time will be taken by C to empty the full
tank?

French, then which one of the following

is correct? (Assume that everyone can (@) 100 minutes
speak at least one of the three )
languages.) (b) 110 minutes
inut
(@ 9<x<30 (c) 120 minutes
(d) 125 minutes
(b) 0<x<8
47. In a race of 1000 m, A beats B by 100 m
or 10 seconds. If they start a race of
(o x=9 1000 m simultaneously from the same
point and if B gets injured after running
50 m less than half the race length and
(d x=8

due to which his speed gets halved, then
by how much time will A beat B?

45. A cloth merchant buys cloth from a (@) 65 seconds
weaver and cheats him by using a scale
which is 10 cm longer than a normal
metre scale. He claims to sell cloth at
the cost price to his customers, but
while selling uses a scale which is (d)
10 cm shorter than a normal metre

scale. What is his gain?

(b) 60 seconds
(c) 50 seconds

45 seconds

48. The salary of a person is increased by
(@ 20% 10% of his original salary. But he
received the same amount even after
increment. What is the percentage of his
(b) 21% salary he did not receive?
(@) 11%
2
Ll (b) 10%
(c) (100 /11)%

10
(d) 235/0 (d) (90 /11)%

B-ABPA-P-JRW/54A 14
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44, 100 =Rl 1 TH Y8 &1 W A 70 ARh

&= 9t whd €, 60 <A S e T @
3R 30 =af F9 O1d THa B WH 99 E,
I Q30 =afth B iR sh <HT S aehd
£ a1 20 =ik =< IR H= 91 9 THd T
Ife x 3 Rl it gE ® | st iR F9
1 9 g B, @) Frefafas § @ SR-w
= w8 37 (W offve 5 vds =R
T1att § § FH-Y-H0 TH 9T S Gl 2 1)

(@ 9<x<30
() 0<x<8
fc) x=9

(d x=38

45. TF FYS 1 ATH TR F HuST @led 7 3

G W 7 | 10 Vo o Tl A wH
T R AR I HIE 1 B | 9 ST ATEH
H A qod W HIST I F @ FA B,
AR J=a g9 @ 7o H1 3E Wl @ 98
g Wi 7o ¥ 10 Fo o B B| IHH
o RY

(@ 20%
(b) 21%

(c) 22% %

(@ 23%%

B-ABPA-P-JRW/54A

46. 2 7@ A IR B Tt Zh A wEm: 60 fiFe

3k 75 e # R g=a 81 @ Fm C oft R)
IR A, B 3R C whEy O iy smd, @) T
50 fiFe # st B1 o SR | C FW e
A A Fra wmg @me

(@ 100 e
(b) 110 fiFe
(c) 120 fiFe
(d) 125 fie

47. 1000 Hio &l T S § A, Bl 100 Ho Al

10 e ¥ a2 AR I @ D WA 4
1000 Hio ) e THAY FRY FW & AR ARG
BarE &l @ % 39 § 50 Wo FH T e
% Uy IR @ S ®, e #Ro 3wl
Tra e B S}, @ A, B TR vmg @
Y

(a) 65 THS
(b) 60 THS
(c) 50 TFE
(d) 45 ¥%s

48, TF ARH F A4 A I 9 1 10% Fhg R <

| A I gfa F a6 At I/ 9 R I
& Tl yw g1 ¥ . Aaa A Rea wiawa
Tfd e 7 gge

(@ 11%
(b) 10%
(c) (100/11)%

(d (90/11)%

[P.T.O.
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49. A truck moves along a circular path and

describes 100 m when it has traced out
36° at the centre. The radius of the
circle is equal to

(a) ]._OEm
T
e
T
(c) @ m
T
T

50. Two poles are placed at P and Q on either

side of a road such that the line joining
P and Qis perpendicular to the length of
the road. A person moves x metre away
from P parallel to the road and places
another pole at R. Then the person
moves further x metre in the same
direction and turns and moves a
distance y metre away from the road
perpendicularly, where he finds himself,
Q and R on the same line. The distance
between P and Q (i.e., the width of the
road) in metre is

(@ x

(b)

N &

(¢ y

(@ 2y

B-ABPA-P-JRW/54A

51. Suppose chords AB and CD of a circle

Al

intersect at a point P inside the circle.
Two right-angled triangles A’P’B’ and
C’'Q’D’ are formed as shown in the
figures below such that A’P’= AP,
B’P’=BP, C'Q’=CP, D’Q’=DP and
ZA’P'B’=90°= ZC’'Q’'D’ :

B’ o’ D’

Which of the following statements are
not correct?

1. A’P'B’ and C’Q’D’ are similar
triangles, but need not be
congruent.

2. A’P'B’ and C’'Q’D’ are congruent
triangles.

3. A’P'B’ and C’Q’D’ are triangles of
same area.

4. A’P’B’ and C’Q’D’ are triangles of
same perimeter.

Select the correct answer using the code
given below.

(a) 2 and 3 only
(b) 1 and 3 only
(c) 1, 2 and 4 only

(d 1, 2, 3 and 4
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49, Th TH JAM U W IAd FL FX W 36° 51. 9H T ©F g9 A Sfamd AB 3R CD 99 &
e FA W 100 Ho H gl 7@ Far B IR fog P W yfoeds A 1 D wmHEwm

g 1 e forass ser 27 Biys A’P'B’ 3R Cc'o'D’ R fu A %
IER W THR AN § T A’P’ = AP,

100 B'P'=BP, C'Q'=CP, D'Q'=DP 3R
(@) Ttﬁ° ZA'P'B' =90°= LC'Q'D’' & :
7
) 22 i .
0 2o B B’ Q'[XD’
I
@ 600 5 Frferfaa semt § & FH-8 w7 87
2 1. A’P'B’ 3R C’Q’D’ wwey fiys & fs
TavEs e o wafmem &)
50. 3 @Y TF GSH & gHl ARl T P 3R Q W _
T THR T W E R P ek 0 = fem 2. A’P'B’ 3R C’Q’D’ ®attad Biys g1
et Y geE A G R @ AR TH 3. APB ¥R CQD R A ¥
=AM ¥SH F GHR P H x WX Q Ferl & B
3R TF I @ R | AT B | 3T 918 98
st 3 fRan § x Her sge ge W @ ek 4. A'P'B’ ¥R C'Q'D’ AR e % Fry
Ueh & I y MR A g T Fal 7; Sl &l
€ 1 & 7 9% @E, Q 3 R & Wi W
g PR 0 F fm it gt (s7ufq wew i
Sreré) e & 7 27 = fag e e 1 W W EE W g
(@ x (a) Fad 2 3R 3
b 5 (b) ¥ 1 3R 3
6 y () Had 1, 2 R 4
d 2y (d 1,2, 334
B-ABPA-P-JRW/54A 17 [P0,
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52. Suppose ABC'is a triangle with AB of unit
length. D and E are the points lying on
AB and AC respectively such that BC
and DE are parallel. If the area of
triangle ABC is twice the area of triangle
ADE, then the length of AD is

1 y
al — unit
(a) 5

1
b) = unit
(b) 5
(c) —— unit

(d) — unit

53. A rhombus is formed by joining
midpoints of the sides of a rectangle in
the suitable order. If the area of the
rhombus is 2 square units, then the
area of the rectangle is
(@ 2+2 square units
(b) 4 square units

(c) 442 square units

(d) 8 square units

54. If each interior angle of a regular polygon
is 140°, then the number of vertices of
the polygon is equal to
(@) 10
(b) 9
(c) 8

(@ 7

B-ABPA-P-JRW/54A

55. Let the triangles ABC and DEF be such
that ZABC = ZDEF, Z/ACB = /DFE and
ZBAC = ZEDF. Let L be the midpoint of
BC and M be the midpoint of EF.
Consider the following statements :

Statement I :
Triangles ABL and DEM are similar.
Statement II :

Triangle ALC is congruent to triangle
DMF even if AC # DF.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement I and Statement II

are true and Statement II is the
correct explanation of Statement I

(b) Both Statement I and Statement II
are true but Statement II is not the
correct explanation of Statement I

(c) Statement]I is true but Statement II
is false

(d) Statement I is false but Statement II
is true

56. The number of rounds that a wheel
of diameter 7/11 metre will make in
traversing 4 km will be

(@) 500
(b) 1000
(c) 1700

(d) 2000
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52. A it &6 ABC w& fays &, foed AB #
TS T 39S &1 D 3N E A AB 3R AC
W 39 yaR feua fagd ® 7 BC iR DE 99|
21 7t s ABC ®1 &%, Bys ADE %
&%l 1 A AT 7, @ AD i e R 27

(@ X
(b)
1
() — T8

(@ —-

53. T A H ysnedi % wea-faged 0 g
F § SieaR Th aHEqys s ST @) A
IS F ATFA 2 T FHE ¢, A A H
S 1 87

(@) 22 3 3R
(b) 4 1 TR
(©) 42 = 5T
(@) 8 TR
54. IR TF §H FEYS F TAH AA 0 140° &, dl
TS o T hl e forgen atrer 77
(@ 10
(b) 9
© 8

d 7

B-ABPA-P-JRW/54A

55. WH sy T fyys ABC 3iR Bigst DEF 34
YR & % ZABC= ZDEF, Z/ACB= /DFE
3R ZBAC = ZEDF ¥\ WH HifSi¢ L, BC @l
we-fig @ @R M, EF #1 me-fag R
Frafefaa oA w femmr Hife

hYd 1 :
s ABL 3R S DEM 99&q 2|

hYd II :

e ALC, frqst DMF % wafmem ?, @@ s,
S AC # DF |

39T FAI & g FrAfaRad § & SH-81 T
el &7

(@ Fa9 1 IR FA 11 [ g § 30K
FoA 11, o [ hl 981 e B

(b) FEH 1 M FH 11 IFT G B Al
A 11, HUH 1 hl GEl AT TE

() HUF 1T ? AR FHeA 11 36A 8

(d) FUA 1 THA ¢ Al FHoA 11 9 &

56. 7/11 Hiet 4™ % TH 4feC g1 4 Fho Hio H
T T FA A A M TSl H@AT =
gt
(@) 500
(b) 1000

(c) 1700

(d 2000

[P.T.O.
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57. The base of an isosceles triangle is
300 units and each of its equal sides is
170 units. Then the area of the triangle
is
(@) 9600 square units
(b) 10000 square units
(c) 12000 square units
(d) None of the above

58. Four equal discs are placed such that
each one touches two others. If the area
of empty space enclosed by them is

150/847 square centimetre, then the
radius of each disc is equal to

(@) 7/6 cm
(b) 5/6 cm
(c) 1/2 cm
(d 5/11 cm
59. ABC and DEF are similar triangles. If the
ratio of side AB to side DE is

(V2 +1):4/3, then the ratio of area of
triangle ABC to that of triangle DEF is

(@ (3-2v2):3
(b) (9-6v2):2
€ 1:(9-6V2)

(d) (3+2J2):2

60. A tangent is drawn from an external
point O to a circle of radius 3 units at
P such that OP =4 units. If C is the
centre of the circle, then the sine of the
angle COP is

(@) 4/5
(b) 3/4
(¢) 3/5
(@ 1/2

B-ABPA-P-JRW/54A

61. A square is inscribed in a right-angled
triangle with legs p and g, and has a
common right angle with the triangle.
The diagonal of the square is given by

(@ P4
pP+2q

() L
2p+q

V2pq
pP+q

(c)

2
(d) 2.
ptq

62. Iff—gtane =land Xtan6+Y= 1, then
b a b

a
2 2
the value of X +Y_ is
a? b2
(@) 2sec?6 (b) sec?6
(c) cos? 6 (d) 2cos? 6

63. Consider the following :

1. ’lﬂ = cosecH —cotH
1+ cos6

2. JHC—OSG = cosecH +cotb
1-cosb

Which of the above is/are identity/
identities?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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57. ol wafgag fs@ =1 smur 300 =R R 61. p 3R g YAl A TH THHU Biye ¥

WH A el H A TAE H wems a:er ©ien Srar B 1 Brygs o6 wwento, @l a6
170 TS | B o1 gorhe o1 B9 gashir oft 3|t o feremol fomerss s 27
(a) 9600 T 1§ -
(b) 10000 T FhTE % p+2q
(c) 12000 = 3HE .
() I A | S T ® 2p+a

58. WX WHM wfsheple] $ 30 THR @ a1 ¢ 6 ) V2pq
YA fshepT A 31T IS Y TI9 et B ptq
I ITH FR uReg T WH Faaea 2pq
150/847 =i Fo Hio B, A YAF Al (d) o I
Brean forass seR 27
(@) 7/6 Fo Ho

- 62. R X -Ytano =13 Xtane+¥=1%, @

(b) 5/6 Wo H B p b
fe) Tj2WeTE %2 Y2 ¥
(d) 5/11 Ao o a? b2

59. ABC 3R DEF ww&q fiys ¥ R s AB (@) 2sec?6 (b) sec? o
¥ 1 I 7
- 63. P w few Hifvr ;
(b) (9_6‘/5):2 1 1_cosezcosecﬂ—cote
(© 1:(9-6v2) " Vi+cos8
(d) (3+2v2):2 1+cos®

2

= cosecH +cotH
1-cosH

60. 3 315 ! B & T 99 % fag PR T W -
fig 0 A v wi-Xwl 38 YR EiEh ST R o & A FA-w aahEm/adatE 2/
fFoP=4 R 2l AR @ & 3 C }, A

IV COP &1 sine 1 &7 (@) Fad 1

(@) 4/5 (b) e 2

o (c) 1 3R 23N

¢ 3/5

@ 1/2 (d I 13MmAE 2
B-ABPA-P-JRW/54A 21 R B
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k. [ p =eontshiemnt amd; g SeookuuRG 67. In a triangle ABCif A~ B=Z, then C+2B
then (p2q)3 —(qu)'3 is equal to 2
is equal to
(@) O
4 2n
(b) 1 (@) 3
(c) 2
@ 3 (b) %
65. Two observers are stationed due north of
a tower (of height x metre) at a distance © =
y metre from each other. The angles of
elevation of the tower observed by them #
are 30° and 45° respectively. Then x /y (d) 3
is equal to
{a} E
9 68. Which of the following is correct
-1 in respect of the equation
(b) T— 3-tan?6 =a(1-3tan?6)? (Given that
o is a real number.)
V3+1
() 1
2 (a) o €|:-3—, 3]
@ 1
66. If (b) o e(—oo, 231—} U[3, o)
cos? 6 - 3cos6 +2 -1
sin? 0 ]
(C) ae(—w’ g)U[s’ °°)

where O<9<—g-, then which of the

following statements is/are correct? (@ Hone of the: dbove

1. There are two values of 6 satisfying

the above equation. 69. There are five lines in a plane, no two

2. 06=60° is satisfied by the above of which are parallel. The maximum
equation. number of points in which they can

Select the correct answer using the code LG ersEes 48

given below. (@ 4

a) 1 \

(@) 1 only (b) ©

(b) 2 only

(¢) Both 1 and 2 (¢) 10

(d) Neither 1 nor 2 (d) None of the above
B-ABPA-P-JRW/54A 22
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64. AR p =cotb +tan6 R q=secb—-cosH %,

N (p2q)5 - (g2 p)3 Fres wa 27

(@)
(b)
(c)
(@)

W N = O

65. 3 JgF TF HAR (x HiX ) & fF W 8

TH-gR ¥ y HieX A g | e 1 A <Al
3R Afdra MR F 3T B0 FwHm: 30° 3R
45° 81 @ x / y Torash SR 77

@ ——

(b) ——

cos? 0 -3cosh+2 -1

sin? 9
aa’r%ww%%,a‘rﬁmﬁ«rﬁaawﬁﬁ%

FH-91/3 T /27

1. 393 FHfieur sl HgE H 9T, 6 % &
M g1

2. 6 =60° I9IH AIHT A HIE 2
= g T e 1 JEE W EE W g
(@) Faa 1

(b) HaA 2

(c) 1 3R 23H

(d Fd@1IARTH 2

B-ABPA-P-JRW/54A

67. T Biyw ABC ¥ AR A—B:g%, @ C+2B

Torges st 27

(@ —

B ==

(c) =

(@)

N3

68. Fmfafed # & =W-w, wiww

3—tan26=a(1—3tan29) F SR § g@
27 (e ™ R 1% o U arEafas g R1)

(a) ae[%, 3}
(b) ae(—oo, —;—JU[S, oo)

(c) ae(—oo, %ju[S, o)

(d) 39 | | HE TE

69. TF WHa H Ufg @i g, o @ @ @

TR T ¥ A Fgett A, i\ w A wfede
TR Ghd] €, ATrehan H&AT 1 _7

(@) 4
(b) 6
(¢) 10

(d) ST H W HIS T

[P.T.O.
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70. Consider a circle with centre at O and

radius 7 cm. Let QR be a chord of length

2 cm and let P be the midpoint of QR.

Let CD be another chord of this circle

passing through P such that ZCPQ

is acute. If M is the midpoint of CD

and MP =424 cm, then which of the

following statements are correct?

1. ZQPD =135

2. IfCP=mcmand PD=ncm, thenm
and n are the roots of the quadratic
equation x%-10x+1=0.

3. The ratio of the area of triangle OPR
to the area of triangle OMP is 1: 24/2.

Select the correct answer using the code

given below.

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

71. Let ABC be a triangle in which AB= AC.

Let L be the locus of points X inside or

on the triangle such that BX = CX.

Which of the following statements are

correct?

1. L is a straight line passing through
A and in-centre of triangle ABC is
on L.

2. L is a straight line passing through
A and orthocentre of triangle ABC
is a point on L.

3. L is a straight line passing through
A and centroid of triangle ABC is a
point on L.

Select the correct answer using the code

given below.

() 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

B-ABPA-P-JRW/54A

24

72. Consider a circle with centre at C. Let OP,

OQ denote respectively the tangents
to the circle drawn from a point O
outside the circle. Let R be a point on OP
and S be a point on OQ such that
ORxSQ=0SxRP. Which of the
following statements is/are correct?

1. If X is the circle with centre at O
and radius OR, and Y is the circle
with centre at O and radius OS,
then X =Y.

2. ZPOC+ £QCO =90

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

73. If m and n are distinct natural numbers,

then which of the following is/are
integer/integers?

m n
1. —+—
n m
m n -
2% mn(—+—)(m2+n2)l
n m
mn
3. e
m“+n

Select the correct answer using the code
given below.

(@ 1 and 2
(b) 2 only
(¢ 2 and 3
(d) 3 only
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70. F3 O 3R 7 Ho o B=A % Th 99 W fo=w

HIRY 71 i OR, 2 Fo o Tt wH

Sfan @ @R 79 i P, QR @1 wen-fig R

M dife cp g 3@ fl, P ¥ TS

qredl, T I S W WER § R ZCPQ

R 3| AR M, CD w we-fag B R

MP =24 Ho Hio ®, @ Trfeifaad et &

¥ FH-3 9 #7

1. ZQPD=135°

2. IR CP =m ¥o Mo 3R PD = n o Mo
%, W m 3R n fgama  weie
x2-10x+1=0% T B

3. TS OPR % &=wa #1 figs oMP &%
&A%l | AT 1: 22 B

= fow 7T e 1 wE W wE IW gA)
(@) wad 1 3R 2
(b) Fad 2 3R 3
(c) Fada 1 3R 3
(d 1,233

71. 91 &fiNT ABC & fays &, @l AB= AC

B W R fagatt x =1, < for Page & o

71 Biys W 39 wR § 6 BX = cx 3, fogoy

L ? frfafaa woAt 3 § H9-2 ad §2

1. L, A9 TRA 9Tl TF W W@ g 3R
s ABC #1 3fa:%g L W R

2. L, A® TSR 9l TF W W@ g iR
e ABC 1 wiehz L R T fig R

3. L, A9 TS 9l T Wd W@l g 3R
Biys ABC %1 %% LW wh g R

= fog 7T e w1 wE W EE I gAY
(@) Faa 1 3R 2
(b) Had 2 3R 3
(c) Had 1 3R 3
(d 1,23W3

B-ABPA-P-JRW/54A
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72. %3 C 9 & g9 W fEr Aifvsw) am ¢if

OP, OQ %HY: 9d & @ f9g 0 ¥ 30 W
dt=f T TEi-@| ) o @ifsT R, oP W
T fag 3R S, 00 W wF fog 30 wR ® T
OR x SQ = OSx RP 3| Tr=fefad wemt # @
HH-91/3 w2 /87

1. AR X, %5 O 3R B OR &1 97 ® @
Y, ¥ O iR fsm os %1 9@ %, @
X=Y?%?I

2. ZPOC+ £QCO = 90°

= g 7T g w1 TEI W w9 IW g
(a) HFd 1

(b) IS 2

(c) 1 3R 23

(d) T@1MAH 2

73. AR m 3R n PrF w7 s §, @ Frefafaa 3

A FH-41/8 it & /87
L., g,
n m

2. mr1[m+i)(m2+712)”1
n m

mn

m2 +n2

= fow T %2 = @ = o I g
(@ 13R2
(b) FaA 2

3.

(c) 233 .
(d) Faa 3

[P.T.O.
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74. Outside a meeting room, Madhukar was

told by a person that each meeting
takes place after 13/4 hours. The last
meeting has been over just 45 minutes
ago and the next meeting will take place
at 2 p.m. At what time did Madhukar
receive this information?

(@) 10:20 a.m.

(b) 11:30 a.m.

(c) 11:40 a.m.

(d 11:50 a.m.

75. The expenditure of a household for a

certain month is ¥ 20,000, out of which
¥ 8,000 is spent on education, ¥ 5,900
on food, & 2,800 on shopping and the
rest on personal care. What percentage
of expenditure is spent on personal
care?

(@ 12%
(b) 16:5%
€ 18%
d) 21-8%

B-ABPA-P-JRW/54A
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76.

717.

78.

If
5 3+ L 1
19 S
1
y+-
z
where x, y and z are natural numbers,
then what is z equal to?
(@ 1 (b) 2
) 3 (@ 4
A circular path is made from two

concentric circular rings in such a way
that the smaller ring when allowed to
roll over the circumference of the bigger
ring, it takes three full revolutions.
If the area of the pathway is equal to
n times the area of the smaller ring, then
n is equal to

(@ 4
(c) 8

(b) 6
(d 10

Consider the following statements :

1. If n>23 and m=>3 are distinct
positive integers, then the sum of
the exterior angles of a regular
polygon of m sides is different from
the sum of the exterior angles of a
regular polygon of n sides.

2. Let m, n be integers such that
m>n>3. Then the sum of the
interior angles of a regular polygon
of m sides is greater than the
sum of the interior angles of a
regular polygon of n sides, and their

. m
sum is (m +n)5.

Which of the above statements is/are
correct? '

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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74. G FH & IR Th ARG T TYF H qa71 76. I

Yo 93 13/4 Wl ¥ aR A 31 froeh 6l 5. -1

a3 3% 45 fire wea @ wm g R eiR 19 g

ST Voh AW 2 T BNl | WY B A g+

AT oY |9 T g5 ¢ N
Eﬁx,yﬁtz?ﬂ‘i"ﬁ%%,?ﬁzmw
77

(@) 10:20 gaf& (@ 1 (b) 2
(¢ 3 d 4

(b) 11:30 YaTe 77. T g 99 ) G TN Iori @ 3 TER 5

2 99 B 9w ) 92 g f iy W
HHET ST €, @ 98 R dF aReEEn w=ar R)

(c) 11:40 qaTa A wrf w1 dawd, BR I B ATwd @
nTAT R, @ n Foras ST R?

(d) 11:50 ETE o] 4 b ©
(c) 8 (d 10

78. T=fafad wuE ® fa=r fifse .

1. 3R n>3 R m>3 fm v\ s
§ @ m NS A TE TH GEYS &

75. T W 1 el fomiw 7da %1 =1 € 20,000 %, RN H ATEA, n S 9 TH
fori @ foran w € 8,000, @A | & 5,900, T agYS & dfenl % Armed @ e
TRl W € 2,800 3R I AREIG @A | 2
o R A = A T wfowd = 2. WA ART m, n qOE @ TER § B
AT @ gl &7 m>n>3 @A m g AA TH GW

g F AV B AR, n SIS
I T T TGS F AN % IR
(@ 12% 4 s 2 o A (e )
2
(b) 16:5% ,
IR w1 H W BH-I1/A w9 2/E?
(@) Fad 1
© 18% (b) ¥ 2
(c) 1 3R 23H
(d) 21-8% (d) T4l 13AE 2
B-ABPA-P-JRW/54A 27 [P.T.O.
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79. Consider the following statements :

1. There exists a regular polygon
whose exterior angle is 70°.

2. Let n>5. Then the exterior angle
of any regular polygon of n sides
is acute.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

80. In a triangle PQR, point X is on PQ

and point Y is on PR such
that XP=1-5 units, XQ =6 units,
PY =2 units and YR =8 units. Which
of the following are correct?

1. QR=5XY
2. QR is parallel to XY.

3. Triangle PYX is similar to triangle
PROQ.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1, 2 and 3

81. If a transversal intersects four parallel

straight lines, then the number of
distinct values of the angles formed will
be {

(a)
(b)
(c)
(d) 16

B-ABPA-P-JRW/54A

82. A person travels 7 km eastwards and

then turns right and travels 3 km and
further turns right and travels 13 km.
What is the shortest distance of the
present position of the person from his
starting point?

(@) 6 km
(b) 3J5 km
(c) 7 km
(d) 445 km

83. ABC is a triangle in which D is the

84.

midpoint of BC and E is the midpoint
of AD. Which of the following statements
is/are correct?

1. The area of triangle ABCis equal to
four times the area of triangle BED.

2. The area of triangle ADC is twice
the area of triangle BED.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

ﬁlh”/

A circle of 3 m radius is divided into
three areas by semicircles of radii 1 m
and 2 m as shown in the figure above.
The ratio of the three areas A, Band C
will be

(@) 2:3:2
(c) 4:3:4

(b) 1:1:1
d 1:2:1
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79. TfafEd FuHi w =R Hifo .

1. UF g9 agy #, fomme sfewnmn 700 3,
Ifeaed R

2. HHA AT 1> 5% @ Bet o n oot
el HH TGS T TSR 7 R |

3T A F A P/ G 2/E0
(a) Faad 1

(b) FTA 2

(c) 1R 2 M

(d @ 1IMITA2

80. frdh Byst POR & fag X, PO W v fag

Y, PR R 38 TR 8 f% XP=1.5 s,
XQ =6 3, PY =2 THE a4 YR = 8 THE
B fr=fafaa § 4 99-8 & 87

1. QR=5XY

2. QR, XY % g9 8|

3. Ta pyx, Biys PRO % wwey R
1 oy e =y W wd s g
(@) FaA 1 3R 2

(b) Had 2 3R 3

(c) Haa 1 3R 3

(d 1, 23R 3

81. IRk & frds W@ =m @di@m wa Yareit @

gfe=aed Xl B, @ 3@ YHER a9 FHo F e
A 6 T 9 gfi?

(@) 2

(b) 4

(c) 8

(d) 16

B-ABPA-P-JRW/54A

82. T =fth @ dI IR 7 o o weman 7, fw

I gt & a4 3 o Hio =eran 7, iR fw
I geal ® T 13 fro o =wrn B) 39 =fe
% YR fag ¥ 3aht adam Rl 6 =g
gt ferert 27

(@) 6 fo Hio

(b) 35 TRo Hto

(c) 7 o o

(d) 45 fho o

83. ABC T By ?, & D, BC %1 #ea-fag %

84.

3N E, AD =1 wen-fig | ferfafaa e &
¥ HH-1/3 T /27

1. BYS ABC #1 &5%w, By BED ¥
&TFE I =R T B

2. By ADC ®1 fa%d, Biys BED %
&TFE I QT R

i fog g e w1 e R g I R

(@) Fad 1

(b) FaA 2

(c) 1R 23H

(d) Td@13RAE2

£ )

s fo6 o sifra fom § <wfan mn R, 3 o
B & @ gu A 1 Ho 3ik 2 Ho B F
efgel | = &t § fasnfsa fean mn #) 6
&A1 A, B 3R C 1 31U #41 87

(@ 2:3:2 () 1:1:1

(c) 4:3:4 d 1:2:1

[P.T.O.
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85. If J—;—=lg—‘/g and x-y= 8, then the
y 3 x

86.

value of xy is equal to

(@) 36
(b) 24
(c) 16
@ 9

A

P

.

B Q C

ABC is a triangle right angled at C as
shown in the figure above. Which one
of the following is correct?

(@ AQ?+AB? = BP?+ PQ?

(b) AQ?+ PQ? = AB?+ BP?

() AQ2+BP2 = AB%+ PQ?

(d AQ?+AP? = BK?+ KQ?

B-ABPA-P-JRW/54A

In the figure given above, AD = CD = BC.
What is the value of ZCDB?

(@) 32°
(b) 64°
(c) 78°

(d) Cannot be determined due to
insufficient data

88. ABC is an equilateral triangle and X, Y

and Z are the points on BC, CA and AB
respectively such that BX = CY = AZ.
Which of the following is/are correct?

1. XYZ is an equilateral triangle.

2. Triangle XYZ is similar to triangle
ABC.

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2
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85. aﬁ\/g=—%o—\/g3ﬁ'{x—y=8§,€fxy3h'l

86.

T foraes ser 27

(@ 36

(b) 24

€ 16

[d 9
A

P

.

B 0 o

ABC @ oyt ®, oed ¢ v R, S fop
IR FfRd fom 7 gwtan man ®| Fafafe 3@
T T e 87

(@) AQ?+AB? = BP?+ PQ?
(b) AQ?+PQ? = AB?+ BP?
(c) AQ?+ BP? = AB?%+ pQ?

(d) AQ?+AP? = BK?+ KQ?

B-ABPA-P-JRW/54A

87.

96°

A t D B

IR 3ifra o § AD = CcD = BC %1 ~CDB
1 M 7 &7

(@) 32°
(b) 64°
(c) 78°

(d) 9ate Afwsl & wro Puifa 78 fra
ST Hh

88. ABC U ¥Halg Py 2 s fogl X, Y@ 2

%HY: BC, CA 91 AB W 39 Y%K & T
BX = CY = Az | T=fafas 4 @ «e9-a1/3
g /87

1. XYZ % gvarg By )
2. B xvz, Biys ABC % wnew R

= g 7T e w1 W@ W wd W i)
(@) FFd 1

(b) A 2

(c) 1 3R 23H

(d qd 1A 2

[P.T.O.
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89. . 91. The election result in which six parties
contested was depicted by a pie chart.
Party A had an angle 135° on this pie
chart. If it secured 21960 votes, how
B many valid votes in total were cast?
X (@ 51240
b) 58560
In the figure given above, p and q are ()
parallel lines. What are the values of the (c) 78320
angles x, y and z? (d) 87840
92. The mean and median of 5 observations
(@) x=80°, y=40°, =z=100° are 9 and 8 respectively. If 1 is
subtracted from each observation, then
(b) x=80° y=50, =z=105 the new mean and the new median
will respectively be
() x=70, y=40°, z=110° (@) 8 and 7
(b) 9 and 7
(d x=60, y=20°, z=120° (c) 8 and 9
(d) Cannot be determined due to
insufficient data
e 93. The age distribution of 40 children is as
follows :
Age (in years) | 56 | 6-7 | 7-8 | 89 [9-10|10-11
2x +6y=21 No. of children | 4 7 9 12 6 2
Consider the following statements in
s respect of the above frequency
o| 1 y2 3 4 distribution :
1. The median of the age distribution
The linear inequations, for which the is 7 years.
shaded area in the figure given above is 2. 70% of the children are in the age
the solution set, are group 6-9 years.
3. The modal age of the children is
(@ 2x+6y<21, 5S5x-2y<10 8 years.
Which of the above statements are
() 2x+6y<21, Sx-2y=>10 correct?
(@) 1 and 2 only
(c) 2x+6y=21, 5x-2y<10 (b) 2 and 3 only
; (c) 1 and 3 only
(d 2x+6y=21 5x-2y=10 (d 1,2 and 3
B-ABPA-P-JRW/54A 32
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89. <

100°

&
<

S s R p 3R g iR Yamt ¥ A
x, Yy 3R z F AH H=1 87

(a) x=280°, y=40° z=100°
(b) x=80°, y=50° z=105°
(c) x=70° y=40° z=110°

(d) x=60, y=20°, z=120°

90.

2x+6y=21

of 1 V23 4 *

A W srfirnd, Sme T 5a wg=m oifm
&7 § SR 3ifeha foa # gwrfan mn @, #

(@) 2x+6y<21 5x-2y<10
(b) 2x+6y<21, 5x-2y=>10
() 2x+6y=21 5x-2y<10

(d 2x+6y=221 5x-2y=>10

B-ABPA-P-JRW/54A

91. T Y1E I, oM 57 Tadl 3w forn, whomm
ARG (1§ =) g T T 39 FORG §
A A W1 &I 135° o1 9fe 3@ 21960 W
1, @ o fopad 3y Ha st Tw A7

(@ 51240
(b) 58560
(c) 78320
(d) 87840

92. 5 YUl F Hiew AR Wik wEE: 9 3R 8 ¥
afe g VG ¥ 1 Her WY, df 741 wiey
3R 7% wifeyer €, shaw:

(@ 8 IR 7
(b) 9 AR 7
(c) 8309

(d) Tate fwel % FHru Fuifa 78 fhg s
Hahd

93. 40 w6 7Y 1 qe Frafeifaa B

31y (awi &) 5-6 | 6-7 | 7-8 | 89 |9-10|10-11

F=al & gE 4 7 9 12 6 2

I ARERA §ed % R § FrefeRan el
R foar fifsr

1. 1Y 5eA i mifersr 7 a9 R

2. 70% 9= 6-9 99 % g i & £
3. ==l I agerh oY 8 ¥ R
ITYE FHYA H A FH-Y G 77

(a) Had 173K 2

(b) Had 2 IR 3

() Fad 1R 3

(d 1,2 3R 3

[P.T.O.

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In |

94. Suppose x; = Al for 0<i<10, where A > 1. 98. The value of the expression
Which one of the following is correct? (243 + 647)2 +(243 - 647)2
(a) AM < Median 243 x243 + 647 x ?47

is equal to ‘
(@9 O (b) 1
(c) 2 (d 3 |

(b) GM < Median
(c) GM = Median

(d) AM = Median
99. If a and b are negative real numbers and

1 - c is a positive real number, then which
95 Suppose % T for &=k & Srem A of the following is/are caorrect?
Which one of the following is not 1. a-b<a-c
correct? a b
2. Ifa<b, then — < —.
(@) AM >1/6 e €
3 : < L
() GM>1/6 £ W
( HM>1/6 Select the correct answer using the code
(d) Median = HM £ e
(@ 1
96. The value of (b) 2 only
1 1
Slogyo 3125 - 410g10 2 +1ogp 32 (c) 3 only |
(d) 2 and 3 ‘
° 100.
(@ O
(b) 1
(c) 2
d 3
4 n AD is the diameter of a circle with area
. If tan6 +cot® = —, where 0<6 < —, th .
M anvreo J3 hadd, § 2 en 707 m?2 and AB= BC= CD as shown in
sin6 +cosH is equal to the figure above. All |curves inside
the circle are semicircles with their
(@) 1 diameters on AD. What |is the cost of
J3-1 levelling the shaded region at the rate of
(b) 5 ¥ 63 per square metre?
(@) ¥ 29,700
() ﬁ; 1 (b) ¥ 22,400
(c) T 14,847
(d 2 (d) None of the above
B-ABPA-P-JRW/54A 34
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94. 7H it 0<i<10 % faw x;, = A %, w&f

A > 18| fr=fafad § ¥ FH-a1 w w8 27
(@ AM < e
(b)) GM < HIfede
(c) GM = Aifeda
(d) AM = TIfeht

8| frfefaa & & SF-a1 o wd 7 27 l
(@ AM >1/6

() GM>1/6

() HM>1/6

(d) W = HM

9. é10g103125—410g102+log10 32 # WM

ERI
(@) O
(b) 1
(c) 2
d 3

97. gfe tanG+cot6=i3 ?, &l 0<9<g, a

73
sin® + cos 6 fords sR=R 27
(@ 1

V3-1
(b) 5

V3 +1
(c) 5
(@ ~2

B-ABPA-P-JRW/54A

08, sh

(243 + 647)? + (243 - 647)2
243 %243 + 647 x 647
%1 9 feraeh sIeR B7
(@) O (b) 1
c) 2 (d 3

99, I a R b FMHF drEdfas G&Id & 3R ¢

100.

T YT dIEdiad ge v, q Frefeiaa §
¥ FH-T1/A g R/87

1. a-b<a-c

2. ?Tf‘?«'a<b,?ﬁg<2%l
c

c

3. l<
b

= fa g e 1 wE R wd IW g
(@ 1

(b) HaA 2

(c) a3

(d) 2 3R 3

Ol

A,
Uy

wE foh o Sifa o & <wfan w0 R, AD wH
I H AW 8, g9 F &% 707 a1 Ho B
3N AB=BC=CD | 99 & 3 @ft %
g 8, fm% =amm AD w %1 €63 ufq ol
Hio il R W BRA &7 I e FA H AT
ERIR

(@ ¥ 29,700

(b) ¥ 22,400

(c) ¥ 14,847

(d) 39 T Y FE L

[P.T.O.
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W& A% HTUH! I8 TAHUT YT @ied w7 Hgl WY a9 a% 7 @i

f1.<. 9. : B-ABPA-P-JRW ThEruT gieTeRT STgsd
hH &l
0093405 T1eToT gieeht A
aRfeSTeR v
T : q ave quiies : 100
qAI W

1. uﬂmmzﬁ%wm,mwuﬁ&mgﬁwﬁmwmﬁ%wﬁaﬁéﬁmw weT 1 G
33 U8 g vy onfe A 21 Af} e R, @ 3@ W vl g @ wg@ o)

2. Fual A @ ff OMR sw-w #, 3fud wm W, s TR 3R adigor giesn sgsw A, B, C @1 D &,
e A va fa fet g fEnfa & 9@ ol geag w0 f Redgdt sefigar 6 @) ot oft wem @
v /feramfa & feufy s e v fan o)

3. 3@ Tam gfwem w wy # fiu M Fiww d e G SgEHiE
o #1 wdem gices iR ¥ 7 fad|

4, 3@ vham gfEe 3§ 100 e (v) R g § ) v gea R ok sieh A6t vw ) wes yAw § 9 T
FW) fu g &) T A T TR B G o, TR A IW-mE R iR e =ed §) ARk smow Yo e R oww @
a1ftreh Weger WEl 8, Y 39 WgeR b1 3ifehd ST STYeR) HAH @ | Weds TRAT 6 fAIY A T # woge g 2

5. U o Wil TogeR oter A i T Iwm-wed W sifed e §) sw-we & fig g few )

6. Tft Y % 3k TN B

7. 3908 Ugat T a9 qler giten & Tl Teisi ¥ TogeR IR-TAh W IfRd FAT YE F, TR T4 THO-T F
I TR F gER B fasw Im-wmE 7 A 2

8. 3T o T Tegwl F - A A F TR 91 T F A W Hhae IW-UAH s i ° 3| A AN
a1y gler g o S f argafa R

9. = &M & foiT wF wem g & o= § gom 2

10. Toia 3w & foru <ue
TEgE weA-uat § Iefigar g iy T vew St % ferg que fEan wmem)

(i) 7% 7 & T 9n e 3w # | Iefiear g0 v 3o ¥ T R e w e Iw ¥ fa wa vy Fea g
MY 3 ol TH-TaRTE U8 & w9 § w1 Swn|

(ii) af2 ¢ Iefiear ww A aftes I A R, 9 T e I AA e, Fa fie T s # ¥ uE Iw A g,
o oft 38 wea & fore Swgeger @ e a1 eve fean s

(iii) fz IPfiear gRT S W g 7 o S R, S1fq Infleam g Sw AE fen s &, @ 3@ WA % fog 6 qve
e smom)

W dh AT 9§ TQLAU YRR Wied & 7 gl WY a9 a7 et

Note : English version of the instructions is printed on the front cover of this Booklet.
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